Walt: Solve addition and subtraction word problems
	Question
	operation
	Calculation
	Answer

	[image: C:\Users\stevens.r\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.IE5\LGUTMNT9\RedImportedFireAnt[1].jpg]1) There were 8956 ants in one ant hill and 3949 in another. How many ants were there altogether?

· 
	· 
	
	

	2) There were 6975 trees on a Pacific Island. A tropical storm blew down 2698 of them. How many were left?
[image: C:\Users\stevens.r\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.IE5\HKIVB47G\R11_-_Romi_Palms_&_Trees_-_0015[1].png]
	
	
	

	[image: C:\Users\stevens.r\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.IE5\LGUTMNT9\plane[1].jpg]3)  A plane flew 2675 miles of a 6000 mile long journey,  before stopping to refuel. How much further does it have to go?
	
	
	

	[image: http://2.bp.blogspot.com/-TxySkjtA1B0/UceoILSJwhI/AAAAAAAARTQ/Lw0MGjFr7-s/s1600/book+book+book+drawing+book+shelf+drawing+book+illustration+my+ideal+book+shelf.png]4) A library has 10000 books altogether. 2345 books are for children. 3654 books are non- fiction. The rest are fiction. How many fiction books are there? 

	
	
	

	[image: C:\Program Files\Microsoft Office\MEDIA\CAGCAT10\j0212957.wmf]5) Cilla wants to buy a new car for £6470.  She has £4885 in her savings account and receives £854 for her birthday. How much more money does she need to save?
	
	
	

	[image: C:\Program Files\Microsoft Office\MEDIA\CAGCAT10\j0216858.wmf]6) Daniel planned to drive 1364 miles in one week.  On the first day he drove 172 miles and on the second day 155 miles.  How much further did he have to go?
	
	
	

	7) The population of Cardiff is 302 747, whilst the population of Sarajevo is 529 321. How many more people live in Sarajevo than in Cardiff?



	
	
	

	8) 316900 people live in Coventry. Warwick has a population of 81971 and a further 49500 live in Leamington Spa. How many people live in Coventry Warwick and Leamington Spa altogether?

	
	
	

	1. [image: https://encrypted-tbn1.gstatic.com/images?q=tbn:ANd9GcQ9XpUAqWkqXFo2QWBeZR2mZ0IY_TrLpjx50q7qfr0KK0VCJKD7]9) 15467 people went to Spain for their summer holiday on 12th August 2014. The following day 8769 people travelled to Spain. How many more people went to Spain on the 12th than on the 13th? 

	
	
	

	2. [image: http://space-facts.com/wp-content/uploads/mars.jpg]10) The diameter of Mars is 6779km and the diameter of Earth is 12 742km. How much  bigger than Mars is the Earth?


	
	
	

	1. [image: http://www.theanimalfiles.com/images/white_lipped_tree_frog_3.jpg]11) A mother frog laid 20000 eggs. 1543 failed to develop into tadpoles. Sadly 2575 tadpoles were eaten by dragon flies and trout. Another 6543 met their deaths in various ways over the next year. How many of the eggs grew up to be frogs? [image: https://encrypted-tbn1.gstatic.com/images?q=tbn:ANd9GcR9GwJctAblh5ru8_MwcV5ogAGEO5yK6vwW_Z4ifpvQew04E8fx]
3. 
	
	
	

	2. [image: http://www.fodors.com/cruises/images/cruise-ships.jpg]12) I won £2,000,000 in the lottery. I bought a house for £455,500, I bought a Jaguar XK convertable for £103,500. I also went on a luxury cruise that cost  £13900. How much money have I got left? 
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